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Register in Codeforces
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Choose your username [nickname) on
Codeforces. Be careful vou will not be able to
change it later.
/Iy Codeforces Email | |
& = (& [Y codeforces.com
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l. CODEFORCESﬁ Fassword should contain at least five
Sponsored by VK.com characters
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‘ HOME CONTESTS GYM PROBLEMSET RATING HELP ABBYY CUP 3.0 @ ACM-ICPC WF-2013 E) Password | |
- Search by tag... —
— Top rated
Codeforces Round #189 - veer Rating —p—
By havaliza, 3 days ago, &@hs, 1 tourist 3088
Hello, Codeforces! D 2 petera0216 2823
As two important events 101 and ACM ICPC are coming soon, me and my friends as the ? mg_58 2814
Iranian 10! team decided to prepare a gift for all the Codeforces users who'll soon participate 4 Egor 2679
in one of these events, and also everybody else. ©) 5 Petr 2654
This round authored by me (havaliza), dani1372 and keivan with help from fab. | want to & meret 2627
thank all the Codeforces team for their kind and great effort to maintain this website. 7 al13n 2609
Hope you enjoy solving the problems as much as we're enjoying preparing them! ** 8 VWIRZBMR 2607
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PROBLEMS SUBMIT STATUS STANDINGS CUSTOM TEST

All problems

# Name

320B Ping-Pong (Easy Version) dfs and similar, graphs <

3204 Magic Numbers brute force, greedy | =j

319E  Ping-Pong data structures =

3190 Have You Ever Heard About the Word? =
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PROBLEMS SUBMIT STATUS STANDINGS CUSTOM TEST

All problems

# Name

1A Theater Square greedy, math = ={

Waterme r'| math —.,IF

158A  Next Round implementation ‘L'

ABBYY CUP3.0"Y AC

o

ABBYY CUP3.0Y  AC

4
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~ & xs¢89
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A & x6071
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PROBLEMS SUBMIT STATUS STANDINGS CUSTOM TEST

A. Watermelon

time limit per test: 1 second
memary limit per test: 64 megabytes
input: standard input
output: standard output

One hot summer day Pete and his friend Billy decided to buy a watermelon. They chose the biggest and the ripest one. in their opinion.
After that the watermelon was weighed, and the scales showed w kilos. They rushed home, dying of thirst, and decided to divide the
berry, however they faced a hard problem.

Pete and Billy are great fans of even numbers. that's why they want to divide the watermelon in such a way that each of the two parts
weighs even number of kilos, at the same time it is not obligatory that the parts are equal. The boys are extremely tired and want to start
their meal as soon as possible, that's why you should help them and find out, if they can divide the watermelon in the way they want. For
sure, each of them should get a part of positive weight.

Input
The first (and the only) input line contains integer number w (1 < w = 100) — the weight of the watermelon bought by the boys.

Qutput
Print YES, if the boys can divide the watermelon into two parts, each of them weighing even number of Kilos; and Mo in the opposite case.

Sample test(s)

input

3

output

YES

Note
For example, the boys can divide the watermelon into two parts of 2 and 6 kilos respectively (another variant — two parts of 4 and 4

kilos).
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